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QUESTION 1

An administrator needs to address an environment that is not running optimally and conduct an architecture review. 

Which performance attributes should be considered? 

A. capacity, scalability, availability 

B. gateways, application servers, Content Manager 

C. IBM Cognos implementation, capacity, infrastructure 

D. infrastructure, gateways, application servers, scalability 

Correct Answer: C 

Conduct an architecture review to assess the physical architecture and software installation. References:
ftp://public.dhe.ibm.com/software/pdf/dk/service-shop/ IBM_Cognos_BI_Health_Check_Service_FINAL_10-21-11.pdf 

 

QUESTION 2

An administrator wants to render a report and ensure the completed HTML is sent back to the gateway. 

Which service is responsible for the rendering task? 

A. Report service 

B. Delivery service 

C. Presentation service 

D. Content Manager service 

Correct Answer: C 

The Presentation service Transforms generic XML responses from another service into output format, such as HTML or
PDF Provides display, navigation, and administration capabilities in IBM Cognos Connection 

Incorrect Answers: 

A: The Report service manages interactive requests to run reports and provides output for a user in IBM Cognos
Connection or a studio. 

B: The Delivery service sends emails to an external SMTP server on behalf of other services, such as the report service,
job service, agent service, or data integration service 

D: The Content Manager service: Performs object manipulation functions in the content store, such as add, query,
update, delete, move, and copy Performs content store management functions, such as import and export 

References: IBM Cognos Administration Version 10.1.0, Administration and Security Guide, page 139 
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QUESTION 3

An administrator needs to exclude users from rendering reports as PDF output. 

How can this be enabled? 

A. Modify the permissions for the generate PDF Output capability. 

B. Use Theme Manager to remove the generate PDF Output option. 

C. Create a role name "PDF output", add the built-in entry group name "Everyone" and set the permission to Deny. 

D. Modify the file located in \templates\ps\system.xml, locate the line System page in the 

IBM Cognos Administration console. 

Which statement is true? 

A. If a service is disabled in IBM Cognos Configuration, it is listed in the Scorecard pane. 

B. The status that is displayed for each entry reflects the lowest status for all child entries. 

C. A status of Available is displayed when at least 80% of the child entries have a status of Available. 

D. A status of Unavailable is displayed when at least 80% of the child entries have a status of Unavailable. 

Correct Answer: B 

The metric score for each entry is based on the performance of individual child entries. The status that is displayed for
each entry is the lowest status of the child entries. For example, if all the metrics for a dispatcher are good, but one
service on that dispatcher has a poor metric, the metric score shown for the dispatcher is poor. 

Status is one of the following: Available if all components are available Partially available if at least one component is
available and at least one component is unavailable or partially unavailable. Unavailable if all components are
unavailable 

References: https://www.ibm.com/support/knowledgecenter/SSEP7J_11.0.0/
com.ibm.swg.ba.cognos.ug_cra.doc/c_panes_system_status_page.html 
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